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(1) 

𝑈0𝑃𝑡
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ = (0, 𝑡), 𝑈0𝑄𝑡

⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ = (𝑡, 1), 𝑈0𝑅𝑡
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ = (1, 1 − 𝑡)であるから 

 𝑈0𝑆𝑡
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ = (1 − 𝑡)𝑈0𝑃𝑡

⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ + 𝑡𝑈0𝑄𝑡
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ = (1 − 𝑡) (

0
𝑡
) + 𝑡 (

𝑡
1
) = ( 𝑡2

2𝑡 − 𝑡2) 

 𝑈0𝑇𝑡
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ = (1 − 𝑡)𝑈0𝑄𝑡

⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ + 𝑡𝑈0𝑅𝑡
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ = (1 − 𝑡) (

𝑡
1
) + 𝑡 (

1
1 − 𝑡

) = (2𝑡 − 𝑡2

1 − 𝑡2 ) 

 𝑈0𝑈𝑡
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ = (1 − 𝑡)𝑈0𝑆𝑡

⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ + 𝑡𝑈0𝑇𝑡
⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ = (1 − 𝑡) ( 𝑡2

2𝑡 − 𝑡2) + 𝑡 (2𝑡 − 𝑡2

1 − 𝑡2 ) 

   = ( 𝑡2 − 𝑡3 + 2𝑡2 − 𝑡3

2𝑡 − 𝑡2 − 2𝑡2 + 𝑡3 + 𝑡 − 𝑡3) = (3𝑡
2 − 2𝑡3

3𝑡 − 3𝑡3 ) 

𝑈𝑡の座標は ∴ (3𝑡2 − 2𝑡3, 3𝑡 − 3𝑡3) ⋯⋯(答) 

 

(2)  

𝑥(𝑡) = 3𝑡2 − 2𝑡3とすると 𝑥′(𝑡) = 6𝑡 − 6𝑡2 = 6𝑡(1 − 𝑡) 0 ≦ 𝑡 ≦ 1 において𝑥′(𝑡) ≧ 0 であり、単調増加。 

𝑦(𝑡) = 3𝑡 − 3𝑡2とすると 𝑦(𝑡) = −3(𝑡 −
1

2
)
2

+
3

4
 𝑦(0) = 𝑦(1) = 0 であり、𝑡 =

1

2
で最大。 

求める面積は 

 ∫ 𝑦𝑑𝑥
1

0

= ∫ (3𝑡 − 3𝑡3)(6𝑡 − 6𝑡2)𝑑𝑡
1

0

= 18∫ 𝑡2(1 − 𝑡)2𝑑𝑡
1

0

= 18∫ (𝑡2 − 2𝑡3 + 𝑡4)𝑑𝑡
1

0

 

    = 18 [
𝑡3

3
−

𝑡4

2
+

𝑡5

5
]
0

1

= 18(
1

3
−

1

2
+

1

5
) =

3

5
 ⋯⋯(答) 

 

(3) 

求める長さは、∫ √{𝑥′(𝑡)}2 + {𝑦′(𝑡)}2𝑑𝑡
𝑎

0

で与えられる。 

 {𝑥′(𝑡)}2 + {𝑦′(𝑡)}2 = 36𝑡2(1 − 𝑡)2 + 9(1 − 2𝑡)2 = 9{4𝑡2(1 − 𝑡)2 + (1 − 2𝑡)2} 

         = 9{4𝑡2(1− 𝑡)2 − 4𝑡(1 − 𝑡) + 1} = 9{1 − 2𝑡(1 − 𝑡)}2 = 9(2𝑡2 − 2𝑡 + 1)2 

2𝑡2 − 2𝑡 + 1 = 2(𝑡 −
1

2
)
2

+
1

2
> 0 であるから 

 ∫ √{𝑥′(𝑡)}2 + {𝑦′(𝑡)}2𝑑𝑡
𝑎

0

= 3∫ √(2𝑡2 − 2𝑡 + 1)2𝑑𝑡
𝑎

0

= 3∫ (2𝑡2 − 2𝑡 + 1)𝑑𝑡
𝑎

0

 

求める長さは 3[
2

3
𝑡3 − 𝑡2 + 𝑡]

0

𝑎

= 2𝑎3 − 3𝑎2 + 3𝑎 ⋯⋯(答) 

𝑦 

𝑥 
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𝐶 


